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M1 [NER] ROBYEZE 10 DRERTHRYE. L, WThIFHEFEIHTHILT 5.
(1) 299792458 (2) 0.0000000000667 (3) 60221367000000000000000
(4) 0.000000000000000000160 (5) 213

M 2 (EH0EHE] XRDEHEEZE K,

1) 10°x107°x10* (2 (102><103)2 @) 10°x10°  (4) 10°+10°

FIRE 3 [BffE] ZODOBM LA L, AUOEM TRDY,

(1 1[kg] = lg] 2 1[m] = (km]

FIRE 4 [B8E] ZOOBMERE L, AUOEN TRDY,

(1) 1[em] = [m] 2 1[m] = [um]
3) 1lkgl = [mg] @4 1[s] = [ns]
(5) 1[hPa] = [Pa] 6) 1[m] = [cm?]

MRES [BEffE] ZO0OBMEZBE L, FUOBM TRDYE,

(1)1.0x107° [g/ecm®]= [kg/m’]  (2) 100 [km/h]= [m/s]
(3)9.80x10° [gem/s? 1= [kem/s?]
(4)10.13[g/cms* 1= [k g/ms?*]
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